201 1-2012

World Class Work Holdlng Solutions

PROVEN TECHNOLOGY w STRINGENT QUALITY &RELIABILITY ‘-

#3, 2“dma|n Kanakanagar Near Sreemvasanagar Bangalore 560072 INDIA_
25 S 'E (0)98806 68893 (0)8904352853 a
L _-';-';"‘.__'; e marl hydcyl clasys@gmall com




Equipment

General information

Hydraulic cylinders
= Single acting

* Double acting

Formulas and description Symbol

Basic equations (static, without any loss)

Q= M F: force
1 -
V= A-s =8 pressure
F A Al area
T: Q: flow
PR v:  speed
Q=AY V:  volume
M = ? t: time
s * s travel (stroke)
bty M: torque
d: piston diameter (mm)
A = Xl e
el 4 ol A: piston area (mm?) A v.Fs
v [ﬂ} _ s[mm] Fy force (N) d
sl 1000t(s) pg: operating pressure (bar) s
v: piston speed [ﬂ] 1
=-0.1: . 2
Fq [N] 0.1: pg [bar] - A [mm?] B - &
-10F )
pg [bar] = S10Fe08 s:  stroke (mm)
Ay [mm?] t:  time (S)
Qin pm] = 0.06 - A [mm?] - v [%]
Extending
Basic equations (balance of forces): Py ?3 ’9 oAs
LY
A, == di’ = 0.78d,” Simplified: E
; [bar] - Az [mm2] - 10F [N] d1 Ay s,V
Ay = % (’12 " dza) py [bar) = P2 L =
Aq (mm?) 1 J
P1-Ay=p3-Az-F . K
1 - py [bar] - A [nm2] + p; [bar] - Ay [mm?] » 2
Pa=A—(pa-A3—F) FIN] = ~
1

Pa s the result of back pressure from pipes and valves for Q.
Attention: Pressure intensification could occur!

nzA"V
0M=A3‘V

Retracting
Basic equations (balance of forces):

Py-Ay = pg-Ag+ F Simplified: :;‘

1 T T
Py =— (P A\—-F bar] - As [nm?] - 10F [N i
3 e (Pi 1 ) p, bar] = py [bar] - Ay [mm?2] [N] l 1 i
Ag [mm?] F
OI = AS v Qnu! an
™ p, [bar] - A, [mm?2] - + Ag [mm
i do F iy~ Piloan - A, (mm2) :;[barl Aq [mm?)
py result of back pressure from pipes and valves for Qg
Ay:  piston area (mm2) Qy,: inflow (Ipm)
Ag:  rod side area (mm?) Ogui: outflow (Ipm)
dy:  piston @ (mm) pPi:  pressure, piston side (bar)
dy:  rod @ (mm) ps:  pressure, rod side (bar)
F:  force (N) s:  stroke, travel (mm)
Conversion table
Nomenclature Codings Unit o Factor x Unit
Pressure P 1 o 10 bar
mm
1 MPa sl 10 bar
kgt = 1 bar
1
cm
1 psi ~ 0.07 bar
Force F 1 ko -m = 1 N
<

1 Ibf - 4.45 N



DESIGNATION

THREADED BODY CYLINDER
Hydraulic (Manifold Mounting)

PRODUCT CODE

0101

<+
~d
Iy
-
DESCRIPTION :
Compact design
Space saving mounting
Male & Female threaded piston ends
Cylinders are threaded directly into
manifold
Pushing,Pulling,Ejection & Riveting
operations
Min. Operating Pressure : 0.5 MPa
Max.Operating Pressure : 20 Mpa
Model. 0101-0101|0101-0102/0101-0201(0101-0202/0101-0301/0101-0302|0101-0401|0101-0402/0101-0501|{0101-0502
Rod dia.D. mm 6 8 10 12 16
Piston dia.D1mm 10 12 16 20 25
Stroke - S. mm 4 | 8 4 [ 8 6 [ 10 8 [ 12 12 [ 1.
M mm M16x1.5 M20x1.5 M24x1.5 M30x1.5 M36x1.5
L1 mm 12 12 14 18 21
L2 mm 19 23 19 23 21 25 27 31 33 37
L3 mm 3 3 3 3 3 3 3 3 3 3
L4 mm 2 2 22 26 24 28 30 34 36 40
L5 mm 34 38 34 38 38 42 48 52 57 61
AF mm 19 24 27 36 41
ad mm 22 28 32 42 48
L6 mm 14 14 16 23 23
| B N
ﬁ stoke.  OC
Application :
ad
I M S
| 1)
v /Tor S
"‘1/ | =l
i /1 / i / L2
ORDERING METHOD. _ 1 =
PRODUCT CODE-MODEL NO. 4
Eg. 0101-0101. / ////// 2]

(Specifications subject to change)




DESIGNATION

THREADED BODY CYLINDER

PRODUCT CODE

0102

Hydraulic (Manifold Mounting)
PE
2D
8C L
£
M »
§ " 5 .:. 1
[ | |
=l o
=S
. w
DESCRIPTION : &
Compact design
Space saving mounting
Male & Female threaded piston ends
Cylinders are threaded directly into RNUE S — i
manifold
i i " . B
Spring Return Type Cylinder Mounting details
T+0.1 A
2
APPLICATION : ‘E’
* Can be used for direct clamping <1
as well as positioning & support E
* Threaded body eases installation BN  — = a
Max V -
S
=
Size & Mounting Details :
Model code 0102 0101 0102 0201 0102 0301 0102 0401 0102 0501 0102 0601 0102 0701 | 0102 0801 0102 0901
s lMlL s |M ||. s lM |L s |M ||. s ln |L s [M IL s IM IL s |M ||. s |MIL
A (Nominal sizex pitch) M16x 1.5 M22x1.5 M24x1.5 M30x1.5 M36x1.5 Ma5x1.5 M55x2 MB5x2 M8O0x2
B 14.3 20.3 223 283 343 433 52.6 62.6 77.6
c 7.5 11.2 13 17 19 28 34.5 42 52
D 8 12 14 18 22.4 30 355 45 55
E 16.0 21.2 24.5 30 355 45 55 66 80
F 40.544.5[50.5[35 |43 |s6 [30.5] 47 [63.5[a3.5]525|72 |51 |64 [s5 |59 |72 |9a.5| 64 [79.5[102 | 78 |94 f23.d 88 | 106 [137
G 18.0]24.0|33.0]13 21 34 |17.5| 25 |41.5[18 27 |46.5| 23.5(36.5|57.5| 23 36 |58.5| 27 |42.5|65 35 51 | 80.5|42 60 |91
H 5 8 8 9 10 12 12 13 13
| 5 7 7 8 8 12 12 14 14
K 55 7 7 8.5 9.5 12 13 16 19
L 4 5.5 55 7 8 10 11 13 16
M (Nominal size x depth) M5x8 M6 x 7 M6 x 7 M8 x 10 M8 x 10 M10 x 11 M12 x 12 M16x16 M20x20
N 7 10 10 14 17 24 30 36 41
P 14 19 22 27 32 a1 50 60
T 14.5 20.5 225 28.5 34.5 435 53 63 78
Min.U 12 14 14 15 16 18 20 25 25
Max.U 23 ]29 |38 20 |za 141 24 ]32 |4s 26 |35 | s4 | 32 [45 |6§ 34 |47 |59 38 Isz ]75 47 |s:1 |92 54 |72 [103
max. V 3 3 3 6 6 8 8 8 8
Stroke & Load details :
[Model 0102 0101 0102 0201 0102 0301 0102 0401 0102 0501 0102 0601 0102 0701|0102 0801 0102 0901
Stroke code s M JL [s M [t [5 M Jt |5 [m [t [s Im Jt |s m [t [s M £ [s M Ju |[s ™ [
Stroke ___mm 6 |10 J16 |6 [10 J16 [8 12 f20 |8 [12 [20 J10 Jie [25 [10 [16 25 [12 Jo0 |32 |ue [os Jeo e ps o
Cylinder area _cm? 0.95 1.1 15 2.5 3.9 7.1 9.9 15.9 23.8
Cylinder volume cm? 0.6 [0.951.5]0.7 1.1 J1.8 1.2 1.8 [3.1 [2.0 [3.1 [5.1 [3.9 [6.3 [9.9 [7.1 [11.3[17.7]11.9[19.8 [31.7 [25.4 [39.8 [63.6 [38.0 [59.4 Fs5.0
Release spring force(N) 12.4~24.0 26.0~43.0 33.0~51.0 50.0~99.0 79.0~150 157~319 236~452 353~657 564~1040
Supply pressure:(7MPa) 0.665 0.75 1.01 1.66 2.59 3.60 6.44 10.4 155
(force In kN)
Calculation formula_ (kN) (0.01P)-0.024 | (0.113P)-0.041 | (0.154P)-0.060 | (0.254P)-0.099 | (0.394P)-0.150 | (0.707P)-0.319 |(0.990P)-0.452 |(1.59P)-0.657 |(2.38P)-1.04
Max.operating pressure(MPa) 15
Min. operating pressure (MPa) 0.8

ORDERING METHOD.

PRODUCT CODE-MODEL NO.
Eg. 0102-0101.

(Specifications subject to change)




DESIGNATION PRODUCT CODE
COMPACT CYLINDER 0103
Hydraulic (Manifold Mounting)
DESCRIPTION :
Compact design ‘ i
Space saving & easy mounting i
Male & Female threaded piston ends T el
Cylinders are provided with Universal \ bl y y
Mounting I } ——et )
Clamping, Riveting, Pusing, Pulling & | '
Ejecting ¥ (7 ?3\ P
Min. Operating Pressure : 1Mpa '\k-_-_/J K,-_.;“"
Max. Operating Pressure: 15Mpa r \k )
APPLICATION : )
= - i
. '_I 7
\l <)
it b N N \
i E g JOB |\ I e AR
Il e (& 7 _'~_ /@ s
@; %) ? ARG
l_|_|_| v -_V_.-; " N
I | .
All dimensions in mm 0101 0102 0103 0104
Pushing Force (kN) 4.7kN 12kN 19kN 29kN
Pulling Force (kN) 3kN 9kN 14kN 22kN
Thxpitch M6x10 deep M10x18 deep M12x20 deep M16x25 deep
L4 6 6 7 6
d 12 16 20 25
D 45 65 76 95
G 1/8" 1/8" 1/8" 1/4"
A/F 10 14 1Ly 22
L1 16.5 16.5 17.5 22.5
IE2 12 12 12 12
L3 4 4 4 4
@N 4.5 6.6 6.6 9
@M x deep 8x5.0 11x7.0 11x7.0 14.5x9.0
@Q (PCD) 35 50 60 %5
Stroke 25 25 25 25
L 63 63 67 73
Qil Vol pushing (cc) 8cc 20cc 31cc 49cc
Oil Vol pulling (cc) 5cc 15cc 24cc 37cc
ORDERING METHOD.
PRODUCT CODE-MODEL
Eg. 0103—-0101.

(Specifications subject to change)




DESIGNATION PRODUCT CODE.
LASYS BLOCK CYLINDER 0105
Hydraulic (Double Acting)
2d
T Additional mounting holes
to be drilled as per
N | ; requiren It.'!
) T1 - |
i E 2} || | | Q
y o \ j
\ | ] : I r
| = = |
i £y | (D Iy | |
= | | |
DESCRIPTION : l l l
Double Acting Block Cylinder ! L tliLp
Stroke : 10 / 16 / 25/ 50 / 75 / 100 | r @ﬂ
Male & Female threaded piston ends i =
Cylinders are provided with universal oD 1
mounting -
Chromium plated plunger =
Alloy Steel Body
Min Operating Pressure : 1Mpa
Max Operating Pressure : 15Mpa
APPLICATION :
* Can be used for direct clamping
as well as positioning & support 83
B1
Mode|| Muemsee 0101 {0103 | 0105 | 0201 | 0203 | 0205 | 0301 | 0303 | 0305 | 0401 | 0403 | 0405 | 0501 | 0503 | 0505 | 0507
No. | wuwsweo | 0102 [0104 |0106 | 0202 [0204 | 0206 | 0302 | 0304 | 0306 | 0402 | 0404 | 0406 | 0502 | 0504 | 0506 |0508
Piston @D mm 20 25 32 40 50
Rod@d mm 12 16 20 25 32
Bd1 mm 9 9 1 1 13
Stroke-S mm 16 25 50 16 25 50 25 50 75 25 50 75 25 50 75 100
L1 mm | 66 75 100 66 75 | 100 80 105 | 130 | 80 105 130 95 | 120 | 145 | 170
L2 mm 8 8 12 12 14
L3 mm 16 18 2 28 36
L4 mm 16 19 21 25 25
L5 mm 35 35 40 40 50
L6 mm 19 19 225 225 30.5
L7 mm 16.5 16.5 17 17 17
B1 mm 60 65 75 85 100
B2 mm 25 25 215 315 38
B3 mm 45 50 55 63 76
H mm 20 225 275 315 38
H1 mm 40 45 55 63 76
K mm 125 15 17.5 315 225
K1 mm 25 30 35 43 45
P Hyd. Port. G1/8" G1/8" G1/8" G1/4” G114"
AFF mm 10 13 17 23 26
T mm M10x1.5 M14x1.5 M16x1.5 M20x1.5 M24x1.5
T mm M6 M10 M12 M16 M20
P T N 220 343 563 8.79 13.74
Sing toroe. KN, 1.41 203 343 536 8.12
ORDERING METHOD.
PRODUCT CODE-MODEL NO.
Eg. 0105-0101.

(Specifications subject to change)




DESIGNATION PRODUCT CODE.
LASYS BLOCK CYLINDER 0105
Hydraulic (Double Acting)
2d
T Additional mounting holes
to be drilled as per
requirement,
3] [ = ? M /
)-l | | [ _J\' I | 1 T 1 |"I
: 1= 2 i o, )
| 1 | . : @T : . .
T ¥ ~ A1
- & | 2 |
™ | | |
DESCRIPTION : | Lol
Double Acting Block Cylinder ! | HiLs
Stroke": 25 /50 / 75 / 100 AT | " @r
Male & Female threaded piston ends | ~ e
Cylinders are provided with universal ;D
mounting = =
Chromium plated plunger S
Alloy Steel Body
Min Operating Pressure : 1Mpa
Max Operating Pressure : 15Mpa
<
APPLICATION :
* Can be used for direct clamping
as well as positioning & support
& B1 |
Model | e 0601 | 0603 | 0605 | 0607 | 0701 |0703 | 0701 |0703 | 0801 | 0803 | 0801 | 0803 | 0901 | 0903 | 0901 | 0903
No., | rewuemres, 0602 | 0604 | 0606 | 0608 | 0702 |0704 | 0702 |0704 | 0802 | 0804 | 0802 | 0804 | 0902 | 0904 | 0902 | 0904
Piston @D mm 63 72 80 100
Rod @ d mm 0 45 50 60
@d1 mm 13 17 22 2
Stroke-S mm 25 50 75 100 25 50 75 100 25 50 75 100 25 50 75 100
L1 mm | 100 [ 125 | 150 | 175 | 100 | 125 | 150 | 175 105 | 130 | 155 | 180 105 | 130 | 155 | 180
L2 mm 15 15 15 15
L3 mm 36 36 40 40
L4 mm 28 28 40 42
L5 mm 50 50 60 65
L6 mm 15 30 a7 37
L7 mm 20 20 23 23
B1 mm 125 145 140 160
B2 mm 50 55 55 65
B3 mm 100 110 110 130
H mm 44 54 60 70
H1 mm 88 108 120 140
K mm 30 30 40 50
K1 mm 80 60 80 100
P Hyd. Port. G1/4" G 3/8" G1/2" G1f2"
AF mm 36 M 45 55
T mm M30x1.5 M36x1.5 M40x1.5 M45x1.5
K mm M24 M30x1.5 M36x1.5 M40x1.5
AT . 2148 28.50 35.19 54.98
JM’.’“" KN, 12.68 17.37 2144 35.19
ORDERING METHOD.
PRODUCT CODE-MODEL NO.
Eg. 0105-0101.

(Specifications subject to change)




DESIGNATION PRODUCT CODE
Hydraulic (Threaded Body)
ORDERING METHOD. Sl
SRODUCT CODE—MODEL Nol [1o%e! te- 02010101 | 02010201 | 02010301 | 0201 0401
Eg. 0201-0101. Support Force at 7Mpa (kN) 3.00 3.8 4.5 9.5
Support Force Formula for
Operating pressure (Mpa) 0.53xP-0.68 | 0.67xP-0.91 |0.825xP-1.25| 1.7xP-2.28
Plunger Stroke - S (mm) 6 8 8 10
Ehinacy fising foreer L) 2.8~4.1 3.6~5.7 4,7~7.8 5.8~9.7
Plunger Rising Force  H {N)
3.8~5.9 4.9~8 6.2~11 7.9~13.6
Cylinder Volume  (cm?)
0.60 0.90 1.30 2.00
Min Operating Pressure 2.0 Mpa
Max Operating Pressure 7.0 lea
Weight kg 0.20 0.25 0.35 0.75
A 65 73 80 80
DESCRIPTION : B >4 >7 ER a1
Compact design oC 26 30 36 a5
Manifold Mounted D M26x1.5 M30XL1.5 M36X1.5 M45X1.5
Wide Operating Pressure Range E 55 63.5 67.5 68.5
Hydraulic Advance F 7 8 9 10
Single Acting G 36 42 46 46
sC H 8 9 8.5 10
au @] 24.6 28.4 34 43
#BA R 10.7 11.5 13.5 18
\ % . il 9.5 9.5 12.5 115
m n -] ou 10 12 15 16
g
@ v 5 5 5.5 6
W 8 10 13 14
S [
: - X M6 M8 M10 M10
@BA 9.5 11.5 12.5 12.5
|><| * BB 4 7] 2 a
BC 8 10 12 13
PCB 24.5 28.5 34.5 43.5
CcC 16~47 17~50 18~48 21~58
= CcD CC -7 CcC -7 CC -8 CC -8
oW @CF pcd 21.4 pcd 23.0 ped 27.0 ped 36.0
D BCG 2 2 2 2
@DA x thick D12x2 D14x2 914)(_2 P20x2
PAD Dimensions
PEB 4.9 6 8.2 10
R L EC M6 M8 M10 M10
Ty = @ED 2.5 5 5 5.5
o oCG EE 9 10 10 10
O-Ring. EF 6 7 8 7
g0DA EG 2 2 2 2
2J O-Ring @5x1.5 D4x2 @8X1.5 @8x1.5
GFA 2.6 5.0 5.8 5.8
X oFB 3.6 6 8.5 8.5
\ @ FC 11.5 13 10 12
| FD 4 4 8 8
= + '—— 8| x
-8 g FE 2 2 2 2
/ FF 18 19 20 20
Mounting Torque (Nm) 31.5 50 63 80
NOTE. LOAD GRAPHS MOUNTING DIMENSIONS.
The drawing shows plunger in retracted position —#
Refer to recommendations for making new contact bolt
i i [=]]
Refer to recommendations for mounting torgue SUPPORT LOAD V'S PRESSURE a
Do not exceed recommended torque Qo
Do not exceed recommended working pressure " #CB 2
Plunger Spring & Contact Bolt Dimensions R
6.3 Ra.
hvavavd
o< =0 0
"a‘- I‘a ] 0204 ]
% T e 0001 0380
—(00 040
T 0-Ring. 5
i, e ] e |
] 4]
FE Fc || m § 8§ e 8l 8 = _ ch
FF b Mbar Wbar b Whar @b Whor MWhar
E6 / |
% Length as per EF
requirement. EE

(Specifications subject to change)




DESIGNATION PRODUCT CODE.
WORK SUPPORT 0203
FLANGE MOUNTED

SPECIFICATIONS.
Model.No. |0203-0101|0203-0201|0203-0301|0203-0401 | 0203-0501|0203-0601
Support force at TMPa, kN 45 95 14 21 3 45
ey, os2-125 [155-125 [236P 228 [380P-57 |560P-613 | 75:P-687
Plunger Siroke - 5T. mm ] 0 1z L] 18 20
volume. - o 12 20 33 48 [E 134
; L] N 28~41 36~57 47~78 98~146 12.4~18.8 14.6~21.0
Plunger spring orce. |t —N—T36=50 | 49-80 | 62110 | 6820 | 67518 | 74542
[~ Wlax. operating pressure. MPa 7.0
Wi operaiing pressure.— WPa 20
W. MPa 10.5
[ﬁﬁlﬁn i 070
eighl. Kg. 0.6 0.8 14 22 36 6.0
A 78 76 89 101 126 140
B 5 & 59 8 52 107
C a5 5 0 70 £l [
DESCRIPTION : 2D ) ] 55 ] 7 %
Flange Body E 64 B4 73 85 107 128
Hydraulic Advance F 39 39 45 56 T2 88
Low Operating Pressure G 25 25 28 29 35 40
Flange Mounting H g;i ;;: gg ;g ig igg
Single Acting K 3 a0 47 55 63 75
ORDERING METHOD. K1 17 20 235 275 35 375
PRODUCT CODE MODEL . oL 58 73 83 9 106 126
Eg. 0203-0101. M 11 11 11 11 13 3
N 26 30 35 395 45 .5
Q 95 95 i 11 145 5
10} R 55 55 66 66 9 i
-— B 15 15 7 7 7 78
[BA @ & g T L 2 G T E p7]
@ U % 16 20 2 25 32
- v § 3 B g g 0
HYD.PORT W 3 i 8 i p7] P2
=T X M10 M10 M1z Miz Mi6 M6
X Hyd. porl. GIE GIlE GIlE GIE Gi G
O-Ring. Dax2 B4x2 Bax2 B6X2 B6x2 @ex2
[0) r PR I| | 2 125 125 65 165 215 30
= U Il ""I BB 3 3 3 6 9 g
T 2.3 BC 11 1 14 15 20 28
m{ | N W OEB 7.5 75 10 10 135 135
Contact Bolt. EC M10 M10 Mi2 Mi2 M16 M16
o ! GED 55 65 60 3 9 10
EE 1 10 10 13 16 16
EF 2 2 25 2 3 3
EG 2 2 2 2 3 3
CA M5 M5 M6 M6 M8 M0
pA Mounting dimn. ocB 2 25 25 3 5 5
. DA 35 35 45 45
| o 208 14 14 18 18
Ay OFA 58 58 50 64 10 10
1 @FB 85 8.5 10.2 10.2 14 14
ol o | Plunger spring FC 95 10 12 21 16 %
,_]%j__ i housing dimn. FD 8 5 5 § 7 2
b4 FE 2 2 2 2 2 2
A 3 195 175 20 295 30 385
L r | Plunger Spring & Contact Bolt Dimensions
gl &
g [ Flame hardengd. -Ring.
— B8,
4 L "’\ G
l =
FE m 18
NOTE. T .
The Drawing shows plunger in release position | NOTE, el £ - EG EF
Refer recommendations for making new contact bolt nTr: E:MF:E df:: “ﬁ‘mj‘e;:" D‘un:’fsm?: 7 po
Refer to recommendations for mounting torque compressed = (FF-stroke) Length as per
Do not exceed Recommended torque To be used as reference for designing of springs. requirement.
Do not exceed Rec ded Working P! Consider Plunger spring force to decide weight of contact bolt.
Donaot chaﬁg Eiﬂcallm of contact bolt.
LOAD GRAPH LOAD GRAPH MOUNTING DIMENSIONS.
SUPPORT LOAD VS PRESSURE SUPPORT LOAD VS PRESSURE
160 0]
1400
o000 o
1200 a
o
1w -
? 0703 0101 2 -0 0401
g S s 01 gm 3 0801
Q203 0301 &
- X Pt ﬁ-
400
1000
m
| g 15bar J0bar 3bar 40bar SObar EObar TObar BObar 1 ! I5har 0bwr 30bwr by Sbwr G0bw Mbw Mbar

(Specifications subject to change)




DESIGNATION

PRODUCT CODE

Double Acting Swing Clamp

90° Rotation (RH or LH)

RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping
Chromium plated piston rod

Alloy steel body
Flange Mounting

Min Operating Pressure : 1Mpa
Max Operating Pressure : 12Mpa

y PRODUCT CODE—MODEL
(I Eg. 0301-0101.
- SIS 90° RH.|0301-0081|0301-0091
-.-‘_I . B ’H:_:IL Model 90° LH.|0301-0082 |0301-0092
__ Taper 1/10. A 95 117
I T B 49 54
' C 40 45
- D 36 40
-' h E 64.5 75
| ; F 39.5 50
| = i G 25 25
H 29 315
J 20 22.5
K 31.5 34
oL 66 73
M 11 11
N 23.5 26
| S - P 3 3
L | Q 7.5 9.5
' R 4.5 55
C N ] S 18 17
i r—t 7 T 14.5 15
— @ U 15 18
= v 09 12
EIEY I w 07 09
I X M10x1 M12x1.5
| I 7 @ Y (Hex,xDepth) 5x4 6x5
: i T 4 16 18
L S, Hyd. Port| G1/8 G1/8
SPECIFICATIONS. TAPER ANGLE 1 6 6
Lock cyl. area. cm2 2.03 2.36
Full stroke. mm 13 13
Swing stroke. (90" rotation) mm 5 5
Locking stroke mm 8 8
At lock. cm3 2.6 3.07
o Yolume: At release. cm3 4.9 6.38
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. °C 0-70
Weight. Ka. 08 | 1.0
(Single Acting Cylinders available on request. Please contact nearest Dealer)
MACHINING FOR MOUNTING CLAMP. 90° RH./0301-0081| 0301-0091
90° LH.|0301-0082 |0301-0092
K B Model
4f7|<¢/ — K 315 | 34
S \ B M4 M5
x + C+0.2 36 40
: ’ ﬁ " / D 31 35
i E 23.5 26
Release Port. ﬁ- F 16 18
SUE o c 3 3

CLAMP LEVER TABLE (WITHOUT SLEEVE) FOR 0301 & 0302

SWING CYLINDER (Top Mount) 0301
Hydraulic (Double Acting)
DESCRIPTION : RE araTs

N ﬁcking.

LH- Anticlockwise

rol.ar._:on or
ocking.
e -
2 [2lz|eleslzl (S8
L]
26 BRsBaRN e
ot o™
g [B8/a(al3e=|8
sl |a|8[9(8m82=R
oo
i~
S RiB[H[2m|8[= SR
gl [8lslelh|v(lglN
(=0 (=]
5l (Blaleleln(8l|g]e
g8 2I8[= (2 (H2Be
zl=
sl
3101_5‘,0-‘,\,_._;&
kT
(=]
| =
T
o
w
[
=y
+
< J-.—
—
_','-
T, \o
00 J
&%
I
c ~ b

(Specifications subject to change)




DESIGNATION
SWING CYLINDER (Top Mount)
Hydraulic  (Double Acting)

PRODUCT CODE

0301

DESCRIPTION :

Double Acting Swing Clamp

90° Rotation (RH or LH)

RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping
Chromium plated piston rod

Alloy steel body

Flange Mounting

Min Operating Pressure : 1Mpa
Max Operating Pressure : 12Mpa

RH- Clockwise
&,  Totation for

\locking.

LH- Anticlockwise

ORDERING METHOD. {géaktilr?g for
X PRODUCT CODE—MODEL NO. .
Eg. 0301-0101.
90° RH.|0301-0101|0301-0201|0301-0301|0301-0401|0301-0501| 0301-0601
> | Model |20° LH[0301-01020301-02020301-0302| 0301-0402[ 0301-0502 0301-0602
Taper IHG\ ’ 20 A 122 137.5 145 171.5 185 243
=] B 61 69 81 92 107 127
—- EE ] C 52 60 70 80 95 120
~ D 48 55 65 75 90 105
’3-?{/2 uJ E 80 87 93 108 114 149
- Y i "h-¢ 1o i 52 59 63 71 74 99
= o . G 28 28 30 37 40 50
mJ H 35 39 46 52 59.5 67
W - N ‘ J 26 30 35 40 47.5 60
attach. K 40 47 55 63 75 88
e oL 83 88 106 116 136 152
M 11 1 12 12 16 17
un N 30 33.5 39.5 45 52.5 60
: P 3 3 3 3 &) 4
B Q 9.5 1 11 14.5 17.5 20
Release Port. H J R 5.5 6.6 6.6 9 11 14
S 18.5 17 18 22 22 24.5
T 16 19 20 23.5 25 30.5
U 22 25 30 36 45 55
Vv 14 20 20 26 32 38
o b W 12 12 12 14 14 17
X M16x1.5 | M16x1.5 | M20x1.5 | M30x1.5| M36x1.5| M45x1.5
Y (Hex,xDepth) 6x6 8x6 10x8 10x8 10x10 12x10
z 22 24 30 32 35 40
Lock port. K Hyd. Port. G1/8 G1/8 G1/4 G1/4 G1/4 G1/4
SPECIFICATIONS. TAPER ANGLE 1 6 6 6 6 11 11
Lock cyl. area. cm2 5 8 14 19.7 31.2 40.7
Full stroke. mm 14 17 18 21.5 23 28.5
Swing stroke. (90" rotation) mm 6 8 8 9.5 1 12.5
Locking stroke mm 8 9 10 12 12 16
At lock. cmd 7 13.2 25.2 42.3 102.6 151
. ‘volrs. At release. __cm3 12.5 20.9 37.4 68.7 127.8| 1995
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. ‘C 0-70
Weight. Kg- 1.3 | 1.8 | 27 | 42 | 55 ] 9
(Single Acting Cylinders available on request. Please contact nearest Dealer)
MACHINING FOR MOUNTING CLAMP. 90° RH.|0301-0101|0301-0201|0301-0301|0301-0401|0301-0501| 0301-0601
90° LH.|0301-0102|0301-0202|0301-0302|0301-0402|0301-0502 | 0301-0602
K B Model
& — K 40 7% 55 63 75 88
SRS B M5 M6 M6 M8 M10 M12
b¥2 + C+0.2 48 55 65 75 90 105
. / D 45 50 60 70 85 100
1 E 30 33.5 39.5 45 52.5 60
E 22 24 30 32 37 45
ek KT_L. m;?,fnﬁ G 3 3 3 3 3 4

(Specifications subject to change)




DESIGNATION
SWING CYLINDER (Top Mount)
Hydraulic (Double Acting)

PRODUCT CODE

0301- P

DESCRIPTION :

Double Acting Swing Clamp

90° Rotation (RH or LH)

RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping

o)
L

RH- Clockwise
.  fotation for

\lockmg.

Chromium plated piston rod [

Alloy steel body
Flange Mounting

Min Operating Pressure : 1Mpa

B
e o/

L]
Max Operating Pressure : 12Mpa 1 X Anficlockwise
ORDERING METHOD. rotation for
@PB PRODUCT CODE—MODEL NO, locking.
PH thread  |Eg. 0301—0101—P
— _sec +g 90° RH. 0301-0101]0301-0201] 0301-0301| 0301-0401 ] 0301-0501] 0301-0601
L w o Y 90° LH.|0301-0102|0301-0202|0301-0302|0301-0402|0301-0502 | 0301-0602
o a LY Model
: A 122 137.5 145 171.5 185 243
- #Q B 61 69 81 92 107 127
B C 52 60 70 80 95 120
D 48 55 65 75 90 105
|l E 80 87 93 108 114 149
< H P F 52 59 63 71 74 99
1! G 28 28 30 37 40 50
| e H 35 39 46 52 59.5 67
w ' J 26 30 35 40 47.5 60
K 40 47 55 63 75 88
= 2D’ oL 83 88 106 116 136 152
M 11 1 12 12 16 17
N 30 335 39.5 45 52.5 60
P 3 3 3 3 3 4
B Q 9.5 11 11 14.5 17.5 20
o 7 3 5.5 6.6 6.6 9 11 14
S 18.5 17 18 22 22 24.5
i~ 7 N ] 22 25 30 36 45 55
PG 16 18.5 20 235 25 30.5
% /:@ PF 25 30.5 32 40 46 55
o|¥| ~ 4+ B ¥ PE 23.5 29 30.5 38.5 44.5 53.5
L psra ST = PH Thread| M4 M5 M6 M6 M8 M8
2 /é PD 10 12 15 16.5 20 24
YA\ /) % PB 20 23 28 34 43 53
9PC H8 8 10 12 12 16 20
K PA 10 12 14 16 22 26
Z 22 24 30 32 35 40
SPECIFICATIONS: Hyd. Port] G1/8 G1/8 G1/4 Gi/4 | Gi/4 | Gi/4
Lock cyl. area. cm2 5 8 14 19.7 31.2 40.7
Full_stroke. mm 14 17 18 21.5 23 28.5
Swing stroke. (90" rotation) mm 6 8 8 9.5 11 12.5
Locking stroke mm 8 9 10 12 12 16
At lock. cm3 7 13.2 25.2 42.3 102.6 151
O volums. At release. ___cm3 12.5 20.9 371 68.7 1278 199.5
Max. operating pressure. MPa 7
Min. operating pressure. MPa 125
Design pressure. MPa 10.5
Operating temp. ‘C 0-70
Weight. Kg. e - ™ T 7 I
MACHINING FOR MOUNTING CLAMP. 90° RH.|0302-0101)0302-0201|0302-0301|0302-0401 | 0302-0501 | 0302-0601
90° LH.|0302-0102 | 0302-0202| 0302-0302| 0302-0402|0302-0502 | 0302-0602
K B Model
& — K 40 47 55 63 75 88
Qle \ B M5 M6 M6 M8 M10 M12
x + C+0.2 48 55 65 75 90 105
. / D %5 50 60 70 85 100
i E 30 335 39.5 45 52.5 60
F 22 24 30 32 37 45
R“'mﬂi. m;‘;fnﬁ G 3 3 3 3 3 4

(Single Acting Cylinders available on request. Please contact nearest Dealer)

(Specifications subject to change)




DESIGNATION

Hydraulic  (Double Acting)

SWING CYLINDER (Bottom Mount)

PRODUCT CODE

0302

DESCRIPTION :

Double Acting Swing Clamp
90° Rotation (RH or LH)
RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping

Chromium plated piston rod

Alloy steel body
Flange Mounting

Min OPerating Pressure : 1Mpa
Max Operating Pressure : 12Mpa

. ORDERING METHOD.
B i PRODUCT CODE—MODEL NO.
| . S Eg. 0301—0101.
| f imm| 90° RH.|0302-0081 | 0302-0091
| .f':-.—_:r:.lli Model 90° LH.[0302-00820302-0092
=] ) A 95 111
! B 49 54
. SN C 40 45
, D 36 40
X 3 E 64.5 75
: F 39.5 50
[ G 25 25
H 29 31.5
. - l ; J 20 22.5
i [ 31.5 34
¥ °F I A oL 66 73
I I t.:.'E L°3. 1 | M 1 "
VAL N ‘ ‘ N 235 26
oRige o5 P 3 3
auac]ggd. o - Q 7.5 9.5
o - R 4.5 5.5
- - - — S 18 17
I | T 14.5 15
f 1] 15 18
|7 v 09 12
) ‘ W 07 09
b X M10x1 M12x1.5
{ Y (Hex.xDepth) 5x4 6x5
pa 16 18
ok for = = Hyd. Port| G1/8 G1/8
SPECIFICATIONS. TAPER ANGLE 1 6 6
Lock cyl. area. cm2 2.03 2.36
Full stroke. mm 13 13
Swing stroke. (90" rotation) mm 5 5
Locking stroke mm 8 8
At lock. cm3 2.6 3.07
O, volume. At release. _ cm3 4.9 6.38
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. ‘C 0-70
Weight. Kg. 08 | 1.0
(Single Acting Cylinders available on request. Please contact nearest Dealer)
MACHINING FOR MOUNTING CLAMP. 90° RH.| 0302-0081 | 0302-0091
K B Model 90° LH.|0302-0082|0302-0092
& — K 315 34
gl g B M4 M5
x + C+0.2 36 40
. / D 31 35
1 E 23.5 26
R ﬁ- F 16 18
PrT_L. orih ) G 3 3

:
5
5
g
g
3
g
3

E

RH- Clockwise
. . fotation for

\locking.

LH- Anticlockwise
rotation for
locking.

0601
0602

512

0501
0

(3]

418

0401
0402

0301
030

21

15

0201
020

21

0101
0102

0091
0092

16

167

82
12

=

0081

0

139

17

° RH,

90
Model e

|2

|2

FC

FB

oFF

FD

#FE HB

(Specifications subject to change)




DESIGNATION
SWING CYLINDER (Bottom
Hydraulic  (Double Acting)

Mount)

PRODUCT CODE

0302

DESCRIPTION :
Double Acting Swing Clamp
90° Rotation (RH or LH)

RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping

Chromium plated piston rod

Alloy steel body
Flange Mounting

Min OPerating Pressure : 1Mpa
Max Operating Pressure : 12Mpa

E

RH- Clockwise
. . fotation for

\l\ocking.

LH- Anticlockwise

ORDERING_METHOD. rotation for
" PRODUCT CODE—MODEL NO locking.
e Eg. 0301-0101.
- | L 90° RH.|0302-0101|0302-0201|0302-0301|0302-0401|0302-0501| 0302-0601
= {EL Model |90° LH-{0302-0102{0302-02020302-03020302-0402 | 0302-0502 | 0302-0602
: A 122 137.5 145 171.5 185 243
! ' B 61 69 81 92 107 127
: - T C 52 60 70 80 95 120
: D 48 55 65 75 90 105
) E 80 87 93 108 114 149
E F o2 59 63 71 74 99
G 28 28 30 37 40 50
24 H 35 39 46 52 59.5 67
J 26 30 35 40 47.5 60
K 40 47 55 63 70 88
oL 83 88 106 116 136 152
¥ M 1 11 12 12 16 17
N 30 33.5 39.5 45 52.5 60
P 3 3 3 3 3 4
Q 9.5 11 11 14.5 17.5 20
R 5.5 6.6 6.6 9 11 14
S 18.5 17 18 22 22 24.5
! 1 16 19 20 23.5 25 30.5
U 22 25 30 36 45 55
) 14 20 20 26 32 38
w 12 12 12 14 14 17
X M16x1.5 | M16x1.5 | M20x1.5 | M30x1.5| M36x1.5| M45x1.5
! Y (Hex.xDepth) 6x6 8x6 10x8 10x8 10x10 12x10
Z 22 24 30 32 s 40
et Hyd. Port| G1/8 G1/8 G1/4 G1/4 G1/4 G1/4
SPECIFICATIONS. TAPER ANGLE 7 6 6 6 6 11 11
Lock cyl. area. cm2 5 8 14 19.7 31.2 40.7
Full stroke. mm 14 17 18 21.5 23 28.5
Swing stroke. (90" rotation) mm 6 8 8 9.5 1 12.5
Locking stroke mm 8 9 10 12 12 16
At lock. cm3 T 13.2 25.2 42.3 102.6 151
O ‘volurms. At release. __cm3 12.5 20.9 37.1 68.7 127.8| 199.5
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. ‘C 0-70
Weight. Kg- 1.3 1.8 27 | 42 55 | 9
(Single Acting Cylinders available on request. Please contact nearest Dealer)
MACHINING FOR MOUNTING CLAMP. 90° RH.|0302-0101|0302-0201| 0302-0301| 0302-0401 | 0302-0501| 0302-0601
90° LH.|0302-0102|0302-0202|0302-0302|0302-0402 | 0302-0502 | 0302-0602
K B Model
& — K 40 7% 55 63 75 88
SRS B M5 M6 M6 M8 M10 M12
x + C+0.2 48 55 65 75 90 105
. / b 45 50 60 70 85 100
- E 30 33.5 39.5 45 52.5 60
Ty ﬁ- F 22 24 30 32 37 45
P"’T_L. rori G 3 3 3 3 3 4

(Specifications subject to change)




DESIGNATION

Hydraulic

SWING CYLINDER (Bottom Mount)
(Double Acting)

PRODUCT CODE

0302- P

DESCRIPTION :
Double Acting Swing Clamp
90° Rotation (RH or LH)

RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping

Chromium plated piston rod
Alloy steel body
Flange Mounting

Min Operating Pressure : 1Mpa
Max Operating Pressure : 12Mpa

RH- Clockwise
s,  Totation for

\lockmg.

—

(AR |

\ R/ ]

o~
e o/

)

LH- Anticlockwise

ORDERING METHOD. rotation for
PRODUCT CODE-MODEL NO. IOCklng'
— PH thread Eg. 0302—0101—P
. 90° RH.[0302-0101|0302-0201| 0302-0301|0302-0401 | 0302-0501| 0302-0601
= I /@FLHB 90° LH.|0302-0102 | 0302-0202 | 0302-0302|0302-0402 | 0302-0502 | 0302-0602
- it o A Model
[ o 1 A 122 137.5 145 1721:5 185 243
. B 61 69 81 92 107 127
&) c 52 60 70 80 95 120
. D 48 55 65 75 90 105
B E 80 87 93 108 114 149
F 52 59 63 72 74 99
et W Q\D” G 28 28 30 37 40 50
' H 35 39 46 52 59.5 67
w ! 20 J 26 30 39 40 47.5 60
K 40 47 55 63 75 88
| oL 83 88 106 116 136 152
) Lk M 11 11 12 12 16 17
9 %ij_ﬁ} PR N 30 33.5 39.5 45 52.5 60
= Ly ! P 3 3 3 3 3 4
N Q 9.5 11 11 14.5 17.5 20
J_ A R 3 6.6 6.6 9 11 14
aachla. 3 s 18.5 17 18 22 22 24.5
H J U 22 25 30 36 45 55
PG 16 18.5 20 23.5 25 30.5
a4 A PF 25 30.5 32 40 46 ob
. ‘@ PE 23.5 29 30.5 385 44.5 53.5
T s 1~ \l. PH Thread| M4 M5 M6 M6 M8 M8
o] 2| n 7 PD 10 12 15 16.5 20 24
ool SX T 71 s PB 20 23 28 34 43 53
‘:lg /@ $PC H8 8 10 12 12 16 20
ALY e B\ PA 10 12 14 16 22 26
K Z 22 24 30 32 35 40
SPECIFICATIONS. Hyd. Port. G1/8 G1/8 G1/4 G1/4 G1/4 G1/4
Lock cyl. area. cm2 5 8 14 19.7 3.2 40.7
Full stroke. mm 14 1174 18 20D 23 2815
Swing stroke. (90" rotation) mm 6 8 8 9.5 11 12.5
Locking stroke mm 8 9 10 12 12 16
At lock. cm3 7 13.2 25.2 42.3 102.6 151
Cyl. volume. At release.  cm3 125 20.9 37.1 68.7 127.8] 1995
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. C 0-70
Weight. Kq. 1.3 | 18 | 27 | 42 | 55 ] 9
MACHINING FOR MOUNTING CLAMP. 90° RH.[0302-0101 | 0302-0201|0302-0301|0302-0401 | 0302-0501| 0302-0601
K . 90° LH.|0302-0102 |0302-0202 | 0302-0302|0302-0402 | 0302-0502 | 0302-0602
¢/ K 40 47 55 63 75 88
B M5 M6 M6 M8 M10 M12
x + C+0.2 48 55 65 75 90 105
D 45 50 60 70 85 100
£o3 - E 30 33.5 39.5 45 52.5 60
& F 22 24 30 32 37 45
h'mﬁi.\j;‘;‘.?ﬂ_ G 3 3 3 3 3 4

(Single Acting Cylinders available on request. Please contact nearest Dealer)

(Specifications subject to change)




DESIGNATION PRODUCT CODE.
LINK CLAMP CYLINDER 0401
Hydraulic  (Double Acting)

DESCRIPTION :

Double Acting Flange Mounting

LH,RH & Centre Port Configurations Min Operating Pressure : 1Mpa
Chromium Plated Piston Rod Max Operating Pressure : 15Mpa
Alloy steel body

C [ 04010081 | 04010091
Model.[ RH | 0010082 | 0401002 | BI2 |olsillels|s|slolo|s|o]e]e|=
CH | 04010083 | 04010093 eade M M E M BN
A 945 1035
B 50 54 x |l Rl o I P
c T 45 gg S IR RS
D 36 40
E 64 70
F 39 45 gg Slalalz|e|a|gl=|2|a|2]g]2|
G 25 25
H 295 315
J 205 25 Bl 12lelolollolslal 2] el |o
K 315 K] 28 FEEEEERIEl I
L 68 73
M 11 1 JR
N 235 2% ] P 3 651 P51 o £ £ R Y ) P )
P 3 3
Q 75 95
R 45 55 B18 |s|o|efo|e|o]2]w|o ] |8«
S 18 15 o =
T 21 05 |
u 10 12 a1 o
v 225 25 g%g elaizis|F || lE 2R E] oo
W 30 305 x
- X 20 22 g
2 Y 10 12 B BE [=l2[2]el[2[E]-|2[E[2|8]o |
B 6 ¥ z 19 21 5
H . ZA 16 18 2
= Hyd. Port G 118" 6 | ZRE | [
Spot face @Q AL 14.5 16 f_t Emfﬂuku:_: alc|ells
| AB 5 5 @ 3
1—4@ﬂt ! —@/ AC 5 5 @l =
e [ S = AD 6 6 o d e
LS 2 = < S - ! AE AE AE 2
TSI I 2= ze 3N, [ us | ° .
jm—m'-'-fl—-f'."—/ == \ il Lever. | AG® 19.6° 20.2°
oSl T |
o '
5% BA 10 12 s %} 2
" RH BB 125 14 -
. K | BC BC BC ] %
SPECPFICATIONS. BD BD BD & g E";
v _H=|9.L
Lock oyl area. o 314 38 1 e v [ A
Full stroke. mm 185 20 b c Z Eg
Locking stroke. mm 155 17
Extra stroke. mm 3 3
- Atlock.  cm? 49 64
Atrelease. cm? 3.65 4.5
Max. operating pressure. MPa 7
Min. operating pressure. MPa 0.5
Design pressure. MPa 10.5
Operating temp. °c 0-70
Weight, Kg. 0.72 115
MACHINING FOR CLAMP MOUNTING. A 314 kel
A e ————— B M4 M5
T C +02 36 40
< it o | _ ] D 30 35
oF 1 * E 235 2
== F 16 18
_ﬁm L G 25 25

(Single Acting Cylinders available on request. Please contact nearest Dealer) (Specifications subject to change)




DESIGNATION PRODUCT CODE.
LINK CLAMP CYLINDER 0401
Hydraulic  (Double Acting)
DESCRIPTION :
Double Acting Flange Mounting
LH,RH & Centre Port Configurations Min Operating Pressure : 1Mpa
Chromium Plated Piston Rod Max Operating Pressure : 15Mpa
Alloy steel body
C 401-0104 (401-0201 0401-0301 |D401-0401 0401-0501 0401-0601
Model.| RH [st0102 04010202 001002 0401002 0401-0502 0401-0602
LA Jootois  |osoroeos  osoros0s  [osoross  [osorosos  [osotos0s
A 114 1325 147 175 207 243
B 61 69 81 945 11 127
c 51 60 70 85 100 120
D 48 55 65 75 90 105
E 75 87 93 108 127 149
F 47 59 63 " 88 99
G 28 28 30 a7 40 50
H 355 39 46 52 61 67
J 255 30 35 425 50 60
K 40 47 55 63 75 88
E 83 88 106 116 136 152
M 1 11 12 12 12 15
N 30 335 395 45 525 60
P 3 3 3 3 3 4
Q 95 1 1 14 175 20
R 5.5 6.8 6.8 9 1 14
S 175 15 155 195 19 245
T 35 315 45 55 65.5 7
u 14 16 18 22 28 355
v 29 315 37 45 52 62
W M5 355 39 48 52.5 64
X 26 30 355 435 525 64
Y 13 16 19 25 28 32
L B iy Z 21 28 a7 40 49 64
[ 4 J ZA 2 24 30 32 37 45
= T m | Hyd. Port. G1/8 G1/8 G1/4 G1/4 G1/4 G3/8
Spot face @Q AA 18.5 21 245 30 36 44
_ LB A | 6 8 10 i 13 16
! 74 = = AC 6 6 8 10 12 15
] : AD 6 8 10 12 15 18
[ } s AE 924 101.9 114 130.8 146.5 173.6
=k &~ ik |AF_|_81 535 59 72 81 %
[ 3 Uiever. | AG° | 189 19.9 205 214 224 234
AH 43 4.7 43 45 5 4.1
Al 61.2 7 787 90.8 104.6 1225
BA 12 16 19 22 25 32
RH BB 16 20 25 32 38 45
. K BC 235 29 32 375 415 51
SPECIFICATIONS. BD 6 8 10 1 14 17
Lack cyl. area. cm? 53 8.0 126 19.6 N2 407
Full stroke. mm 235 26 295 35 4 49
Locking stroke. mm 205 23 26.5 32 38 46
Extra stroke. mm 3 3 3 3 3 3
oy volums. Atlock.  cm? 125 209 371 68.7 1186 199.5
Atrelease. cm? 8.9 15.7 296 55.4 93.2 151
Max. operating pressure. MPa 7
Min. operating pressure. MPa 0.5
Design pressure. MPa 10.5
Operating temp. °C 0-70
Weight. Kg. 15 18 25 4.2 6.5 10.2
MACHINING FOR CLAMP MOUNTING. A 40 4 55 63 75 88
A e e—— B M5 M6 M6 M8 M10 M12
T 1 C+0.2 48 55 65 75 90 105
= i o of-1 D 45 50 60 70 85 100
w E 30 335 39.5 45 52.5 60
) F 2 24 30 32 a7 45
— RS, TR G 3 3 3 3 3 4

(Single Acting Cylinders available on

request. Please contact nearest Dealer)

(Specifications subject to change)




DESIGNATION PRODUCT CODE.
LINK CLAMP CYLINDER 0402
LASYS Hydraulic  (Double Acting)
DESCRIPTION :
Double Acting Flange Mounting

LH,RH & Centre Port Configurations
Chromium Plated Piston Rod
Alloy steel body

Min Operating Pressure : 1Mpa
Max Operating Pressure : 15Mpa

C [ 04020361 | 04020401
Model.[ RH [ 04020362 | 04020402 | (2 |glolgles|s|s|wo|s|o|e]e|e
LH | 04020363 | 04020403
A 79 875
B 50 54 % |ohal . Sl (2 - - S
c o 45 gg eR=EC R R R R
D 36 40
E 485 54 e
F 235 29 2R [Elalsl=|alalale|2|a|2(8|e|
I G 2 % i
: H 295 315
[ 1 J & 225 218 [8le|s|2|s|2]a || |E]o [2]]2
K 315 3 sls i
s ; L 68 73
_ < [ 11 11 "
I N 235 2% R [8]2]]e|={=]=] o |a]e]o]o |«
< P 3 3
2 Q 75 95
4 B wy
Wl y [ L 55 S |8|2(efe|22]E ]| 2] [3|<|=
S 18 15 &
o T 21 05 |2
U 10 12 B |5 [ 0
| I | v 225 25 g%g elaizislFlele|elE 2R E] oo
aC w 30 305 o«
) h X 20 2 2
— = Y 10 12 BIZI2 |2|o|ofelo[e|B]o |22 2 ) o|w
- z 19 21 5
i Spot face @Q ZA 16 18 2 I
4xaR, Hyd. Port cie | e |ZEE | |
I 5 o AA 14.5 16 E [ L[Sl a8 < [l . (S [
74 | AB 5 5 gl B
\ 4 AC | 5 5 ol =
%) - —k C &N AD 6 6 o J o
\ by AE AE AE %
! Link AF 43 45 | © <
Lever. | AG® 19.6° 202° .
AH 5 6 !
RH AJ Al AJ !
= - BA 10 12 sf |1 %} 2
BB 125 14 | § .
BC BC BC 1 \Q .
SPECPFICATIONS. BD BD BD i a E Eg
v =12
Lock cyl. area. om? 38 49 d i e v [ A
Full stroke. mm 185 20 b c Z Eg
Locking stroke. mm 165 17
Extra stroke. mm 3 3
- Atlock.  cm? 59 8.33
Atrelease. cm® 47 6.4
Max. operating pressure. MPa 7
Min. operating pressure. MPa 05
Design pressure. MPa 10.5
Operating temp. T 0-70
Weight. Kg. 0.72 115
MACHINING FOR CLAMP MOUNTING. A 314 34
A e —— B M4 M5
T ] C +02 36 40
< it I | _ D 30 35
s 1 = E 235 2
e F 16 18
BN L G 25 25

(Single Acting Cylinders available on request. Please contact nearest Dealer)

(Specifications subject to change)




DESIGNATION PRODUCT CODE.
COMPACT LINK CLAMP CYLINDER | 0402
LASYS Hydraulic  (Double Acting)
DESCRIPTION :
Double Acting Flange Mounting

Alloy steel body

Integrated Hinge Mechanism

LH,RH & Centre Port Configurations
Chromium Plated Piston Rod

Min Operating Pressure : 1Mpa
Max Operating Pressure : 15Mpa
Light weight

C 0402-0481 0402-0551 0402-0651 0402-0751 0402-0901 0402-1051
Model.| RH |mo2.0682 (4020552 0402-0652 0402-0752 0402-0902 0402-1052
LA oz 04020553 4020853 04020753 0402.0003 0402-1053
A 101 1125 1295 153 182 211
B 61 69 81 945 111 127
e 51 60 70 85 100 120
D 48 55 65 75 90 105
E 62 67 755 86 103 17
| F 34 39 455 49 63 67
S 28 28 30 a7 40 50
H 355 39 46 52 61 67
J 255 30 35 425 50 60
K 40 47 55 63 75 88
wil L 83 88 106 116 136 152
) M 11 1 12 12 12 15
N 30 335 395 45 525 60
3 3 3 3 3 3 4
Q 95 1 1 14 175 20
R 55 6.8 6.8 9 1 14
3 175 15 155 195 19 245
T 35 375 45 55 65.5 77
, ] 14 16 18 22 28 355
— Vv 29 315 37 45 52 62
D w 35 355 39 48 525 64
B X 26 30 355 435 525 64
N , Y 13 16 19 25 28 32
- _— - Z 21 28 37 40 49 64
LM | sptfacega ZA 2 2% 30 32 a7 45
4X@R, Hyd. Port. G118 G1/8 G1/4 G1/4 Gll4 G3/8
I £ A | 185 21 245 30 36 4“
| AB 6 8 10 1 13 16
! ! AC 6 6 8 10 12 15
X —Z0 | N AD 6 8 10 12 15 18
\ : AE 924 101.9 111.4 130.8 146.5 1736
Link AF 51 535 59 72 81 98
Lever. | AG® 18.9 199 205 214 224 231
AH 43 47 43 45 5 41
RH A 61.2 7.7 787 90.8 104.6 1225
K _ BA 12 16 19 22 25 32
BB 16 20 25 32 38 45
BC 235 29 32 375 415 51
SPECIFICATIONS. BD 6 [ 10 1 14 17
Lock cyl. area. cm? 7.07 962 159 237 332 442
Full stroke. mm 235 26 295 35 41 49
Locking stroke. mm 205 23 26.5 32 38 46
Extra stroke. mm 3 3 3 3 3 3
- Atlock.  cm? 145 2213 42.14 75.85 126.2 203.35
Atrelease. cm? 11.33 175 354 63.8 102.6 157.7
Max. operating pressure. MPa 7
Min. operating pressure. MPa 0.5
Design pressure. MPa 10.5
Operating temp. °C 0-70
Weight. Kq. 15 18 25 42 6.5 102
MACHINING FOR CLAMP MOUNTING. A 40 47 55 63 75 88
A e B M5 M6 M6 M8 M10 M12
T | C+0.2 48 55 65 75 90 105
= i ool D 45 50 60 70 85 100
" E 30 335 395 45 525 60
== F 22 24 30 32 a7 45
T F BN o AV G 3 3 3 3 3 4

(Specifications subject to change)




DESIGNATION
SEQUENCE VALVE
Hydraulic (External Port)

PRODUCT CODE
0501 0101

ll__ll G1/4" Outlet port

DESCRIPTION :

Compact design

Cartridge type Insert

Space saving mounting

GY, Port available on manifold
Alloy steel body

External Piping Option

Min Operating Pressure : 1Mpa
Max Operating Pressure : 15Mpa

8 APPLICATION
[y
{ 3 2 Used in circuits to operate
N o b multiple actuators in a particular
b @ o Pressure dependant sequence.
- d Used for positioning and creating
4 G1/4" Inlet port delays in actuation.
= Compact design allows for direct
— mounting on the fixture.
%
S
]
ORDERING METHOD.
PRODUCT CODE—MODEL NOJ
Eg. 0501-0101.
DESIGNATION PRODUCT CODE
LASYS SEQUENCE VALVE 0501 0201
Hydraulic (Internal Port)

iy

266

25

G1/4" Outlet port

§

61

I,

yalFay

\ 12
\
Q)

G1,/4" Inlet port

=30 8=

APPLICATION

DESCRIPTION :
Compact design
Cartridge type Insert
Space saving mounting

GY% Port available on manifold
Alloy steel body
Internal Piping Option

Min Operating Pressure : 1Mpa
Max Operating Pressure : 15Mpa

Used in circuits to operate
multiple actuators in a particular
Pressure dependant sequence.

Used for positioning and creating
delays in actuation.

Compact design allows for direct
mounting on the fixture.

ORDERING METHOD.

PRODUCT CODE—MODEL
Eg. 0501—0201. "l




DESIGNATION PRODUCT CODE
FLOW CONTROL VALVE 0701
Hydraulic  (Internal Mounting)

DESCRIPTION : APPLICATION

Compact design

Can be directly mounted on to individual
elements like cylinders or work supports
No External speed control required

Easy Individual adjustment possible
Alloy steel body

Available in G¥, G¥4,G¥% sizes

Max Flow allowed : 10lpm

18 MAX {"

STD G 1/8" BSP

| )

ORDERING METHOD.

PRODUCT CODE-MODEL
[Eg. 0701—-0101.

DESIGNATION PRODUCT CODE
(us}s FLOW CONTROL VALVE 0701
Hydraulic  (Internal Mounting)

DESCRIPTION : APPLICATION
Compact design

Can be directly mounted on to individual
elements like cylinders or work supports
No External speed control required

Easy Individual adjustment possible
Alloy steel body

Available in G¥, G¥,G% sizes

Max Flow allowed : 10lpm

STD G 1/4” BSP —

I ORDERING METHOD.
PRODUCT CODE—MODEL NO:
Igg. 0701-0102.

(Specifications subject to change)




DESIGNATION PRODUCT CODE

C ROTARY DISTRIBUTOR 0801 0101
LASYS Hydraulic 4 PORT DESIGN

DESCRIPTION :

Compact design

Mounted through single screw from back
side

4 ports available for connection

Alloy steel body

G 1/4 port available on housing

Max. flow allowed : 18Ipm
Max Operating Pressure : 1-30Mpa

COVER
&)
&
w0
= +- 0 P
—_ e~ ?C,
61/4" (X4) ; N
/ R : v 2
©®c® ENESy)E
s /
N %)
‘/!\I — “-\..‘_‘_“ ! ’/
#10 — ‘
40
126.19
29 41
70.5

8387

#6.6

APPLICATION

Clamp & De Clamp oil connections
through rotating medium

Can be used for AIR & OIL connections in
parallel

Min 2 port to Max 12 port design available
CONTACT NEAREST DEALER FOR
DRAWINGS AND SPECIFICATIONS




DESIGNATION PRODUCT CODE
COLLET VICE 0901 0101

Hydraulic (Tenon Mounting)

DESCRIPTION : APPLICATION :

Max. Clamping Force, axial (kN) : 8.5 Used in circuits to clamp work pieces
Max. Clamping Force, Radial(kN): 85 by Pull Down method

Max. Operating Pressure (Mpa) : 10 Can clamp a wide range of components
Clamping Range of Collet (mm) : @ 01-26 ranging from squares to hex shaped
Max. Oil Flowrate (cm3/s) : 20 Compact design allows for direct

Max. Qil volume/clamping stroke (cm3): 1.5 mounting on the fixture, even multiple
Weight (kg) : 4.3 loading

Single Acting.Collet is reset by spring.

55 55

10

.
o
D

10

122
10040

50+0.1 5040.1

p50

ﬁ; | | + :: = = iN = E
L — — 1 - . %
St | @
o R | N2
aE 12
~| O
=8 11
R Q
~ ; | o
[Ty)
o™
©
20H7 25
160 50
o] \
N
3 e = N e
o)
o
70201 70+0.1
ORDERING METHOD. 140%0.1

PRODUCT CODE—MODEL NO.
Eg. 0901-0101.

(Specifications subject to change)



DESIGNATION PRODUCT CODE

TIE ROD CYLINDER 1001 0101

Hydraulic
MES - Head Mounting ME®6 Cap Mounting MT1 - Head Mounting MT2- Cap Mounting MT4- Mounting with

Rectangular Rectangular Integral Trunnion Integral Trunnion  Intermediate Fixed Trunnion

MX2- Cap Mounting MX3- Head Mounting MP1- Cap Mounting MP3- Cap Mounting MS2 - Mounting
Tie Rods Extended Tie Rods Extended Fixed Clevis Fixed Eye with Side Lugs

Specifications

+ Max. pressure - 160 bar.

+ Max reciprocating speed - 12 m/min.

+ Break-away pressure - 3 to 5 bar.

+ Standard cushioning length - 20 mm.

+ Minimum cushioning speed - 400 mm/min or less adjustable.

¢ Cushioning is available from 63 mm bore onwards only.

+ For Bronze filled teflon seals, min. speed without stick-slip - 5 mm/min.

Basic Cylinder

BORE| ROD A B D E EE GF | J KK NA PJ | TG |WH| Y | ZB

25 12 14 24 10 40 1/4" 35 20 M10x1.25 1" 53 28.3 15 | 50 | 121
40 18 | 28 | 18 | 28 | 30 | 42 | 15| 22 | 63 318" 39 30 | M14x15 |[M20x1.5| 17 | 26 | 73 41.7 25 | 62 | 166
50 | 22 |36 |22 |36 |34 | 50 |18] 30| 75 172" 40 32 |[M16x15 | M27x2 | 21 | 34 | 74 523 | 25 | 67 | 176
63 | 28 | 45 | 28 | 45 |42 | 60 | 22 | 36 | 90 1/2" 37 32 | M20x15 | M33x2 | 26 | 43 | 80 643 | 32 71| 185
BO | 36 | 56 | 36 | 56 | 50 | 72 | 30 | 46 | 115 3/4" 44 38 M27x2 | M42x2 |34 | 54 | 93 82.7 31| 7| 212
100 | 45 | 70 | 45 | 63 | 60 | 88 | 36 | 60 | 130 3/4" 43 38 M33x2 | M4Bx2 |43 | 68 | 101 | 969 | 35 | 82 | 225

(Specifications subject to change)



FEATURES .

Min operating pressure : 0.5Mpa
Max operating pressure : 16Mpa

High finish on cylinder tube for long
seal life

All cylinders conform to ISO standards
Cushioning available from Higher bore

(@63) only.

How to Order :
CL-(bore)x(stroke)x(rodd)-(ending)

eg: CL-25x400x16-MX3

DESIGNATION PRODUCT CODE
TIE ROD CYLINDER 1001 0101
Hydraulic

APPLICATION ;

Used to clamp work pieces using Push or
Pull method

Can clamp a wide range of components
Can be used in assembly automation.

Design allows for direct mounting
on the application.

Various combination of endings &
Mountings are possible.

Hard Chrome Plated & Ground Piston for
improved working life

Use of International quality seals for
increased life of cylinder

MES - Head Mounting Rectangular

in 8 BORE| RoD | F [ FB] R| RD [To|uo[wF
. o 25 12 10 | 55 | 27 a8 51 | 65 | 25
E 40 |18]28[10| 11 | 41| 62[62] 87 [ 110 [ 35
. N n - 50 |22 |36 |16 | 14 | s2| 74|74 | 105 | 130 | 44
i ‘-= 63 |28 |45 |16 | 14 | 65| 75| 8a | 117 | 145 | 48
L 0 (= - [ 13 80 |36 |56 |20 | 18 | 83| 82|105| 149 | 180 | 51
100 |45 |70 |22 | 18 | o7 | 92[125] 162 | 200 | 57
ME®6 Cap Mounting Rectangular
BORE E FB J R TO uo ZJd
R e g 25 [40 |55 [20 27| 51| 65 | 114
b LU ©e F i B a0 |63 | 1 |30 a1 | a7 | 110 | 153
; e 50 |75 | 14 |32 [s2 | 105 130 [ 159
> () : @ 4 E ! h 63 | o0 | 14 [ 32 |65 | 117 | 145 | 168
L B ) { . 80 115 18 38 B3 149 180 190
L i 100 130 18 38 a7 162 200 203
MT1 - Head Mounting Integral Trunnion
BORE | Tc | TbD uT XG zB
25 a8 12 58 44 121
& 1T & Cafil 40 63 20 95 57 166
! N 50 76 25 116 64 176
; 63 89 32 139 70 185
¢ 4 4 80 | 114 | 40 178 76 212
100 | 127 50 207 71 225

(Specifications subject to change)




DESIGNATION PRODUCT CODE
TIE ROD CYLINDER 1001 0101
LASYS Hydraulic
e == == =5 =5 MT2- Cap Mounting Integral Trunnion
25 38 12 58 101 121
40 63 20 95 134 166 ; 7| :
50 76 25 116 140 176
63 89 32 139 149 185
80 114 40 178 168 212 ¢! i
100 | 127 50 207 187 225
MT4- Mounting with Intermediate Fixed Trunnion
IBORE TD ™ um uw xXv ZB =
25 12 48 68 63 121 P ¥
40 [20 |76 [ 108 [ o2 | & [Tee i
50 |25 [ 89 [ 1209 [ 12 | § [ 178 & IS
63 | 32 100 | 150 | 126 2 185 i
80 40 127 191 160 E 212
100 | 50 | 140 | 220 | 180 225
MX2- Cap Mounting Tie Rods Extended
|sore| aa | BB DD E 16 | z4
25 |40 | 19| msx08 [ 40 | 283 [ 114 =~ - [l
40 59 35 MBx1 63 41.7 153
50 | 74 | 46 |M12x125| 75 | s52.3 | 1s9
63 a1 46 |M12x125 a0 64.3 168
80 | 17| 50 [ M1ex15 | 115 | s27 | 190
100 [ 137 | 59 [ m16x15 | 130 | 969 | 203
BORE| AA | BB DD E TG | zJ
25 |40 | 19| msx08 | 40 | 283 | 114 (&% & .
40 59 35 MEx1 63 4.7 153 {
50 | 74 | 46 [M12x125 | 75 | 523 | 159 |
63 91 46 | M12x1.25 a0 64.3 168 ot o | f
80 |17 | 59 | M16x15 | 115 | 827 | 190
100 137 59 M16x1.5 130 96.9 203
MP1- Cap Mounting Fixed Clevis
BORE A CB|CD|CW| E L [MR|XC
25 14 12 10 6 40 13| 12 | 127 [
40 18 | 28| 20 14 10 63 19 ) 17 | 172 [
50 |22]36] 30 | 20| 15 [ 75 | 32| 29 | 191 [l
63 |28 45| 30 | 20| 15 | 90 | 32| 29 | 200
80 36|56 40 | 28| 20 |115 | 39| 34 | 220 = .
100 |45 | 63| s0 | 36| 25 |130 | 54| 50 | 257 Jligd
MP3- Cap Mounting Fixed Eye
|leore| A co| E |[Ew| L |MR]| xcC
25 14 10 | 40 | 12 |13 | 12 | 127 -
40 [18 |28 | 14 | 63 | 20 | 19 | 17 | 172 .
50 22 |36 20 75 30 3z 29 191 \
63 (28 [45[ 20 | 20 [ 30 |32 [ 20 | 200
80 |36 56| 28 | 115 | 40 | 39 | 34 | 229
100 |45 | 63 36 130 50 54 50 257

(Specifications subject to change)



‘ LASYS

DESIGNATION

PRODUCT CODE

DIE CLAMP CYLINDER 1101

SINGLE ACTING, SPRING RETURN

1/4" BSP
CLAMP PORT

PART NO.
FORCE § 50 kN 75 kN 105 kN
@BORE 70 80 94
d 40 40 45
g 87 87 92
f 95 105 125
j 60 74 78
H To be specified

Note : Force @ 200bar

- of -
: i
(=]
o - g
S Ny
! —— : 1 ! !
N I i
2 ] T -
2 L \ -~ Gd— |
274 i 2d STROKE
] & 8 mm
] ! P
| |=s § R
' P i
R o N L o

Die clamping cylinder is a pull type, spring return cylinder. An
integral ‘'T’, suitable to 28 mm 'T" slot, is provided to the piston
rod of the cylinder.

APPLICATION
Quick Change of Dies & Tools on Presses

OPERATION

De-Clamp the cylinders

Remove from the circuit (pneumatic / manual)

Replace the tool or die

Replace the cylinder back to original position

Clamp the cylinder

NOTES

SAFTEY :

Use 2 separate cylinders for the 2 diagonals of the tool
Cylinder Stroke : 8 mm. Reserve stroke 3 mm. Clamping
height of tool must be accomodated in this value.
Tolerance : 1mm

Dimension ‘H' must be specified while ordering

T-slot is of DING50 std. Please specifiy, if different

Specifications
¢ Maximum operating pressure - 200 bar.




DESIGNATION PRODUCT CODE.
Locating Shank
Primary Liner \ Primary Liner
. . Bush
Application example Bush v &
'.‘ Receiver
Fixture Plate ~* (Either Style)
Mounting at +0.005
Balls For Repeatability £0.04
Locating Shank
Subplate or
Machine Table Primary Liner EximeryLiner
Bush L Bush
0] &
DESCRIPTION @
Ball Lock Unit consists of <) G
1. Shank (1no) e —
2. Primary / Secondary Liner (1no) = (Either Style)
3. Receiver Bush (1no) Mounting at £0.025
Ball Lock does the function of
a. Location b. Clamping
Location : 2 nos Precision Bushes & Shank combination Shank 4 Shank 4
Clamping : Taper Seat over expanding steel ball - -
{ Liner Liner
Application : Eixture Fixture
SMED CONCEPT IS POSSIBLE e Lr. g 0 )
OPERATION Siip Fit Hole Press Fit Hole |
2 Nos Ball Lock for Location & Clamping of plate ' il ; 7
2-4 nos Ball Lock for additional clamping force AN a’
Primary Liners C.D tolerance to be 0.015mm ¥ 3 0 'R —— P
-in Rece: us Reverse Mounting Bush
Secondary linders C.D tolerance to be 0.05mm Subplata Or Machina Table
Bore Tolerance for bushes : HT C'Bore
Mounting Method with Mounting Method with
Boit-in Recessed Bush Reverse Mount Bush
All dimensions are in mm
Ovarall i + 0.5 mm
Max. Masx. Screw Fixture
Part No. |Description Weorking : . Plate Thick. | A |@B |@C |@D | E
Load (kN) | ToraueN-M | = o.0s
1201 0101-01| S-16 x 20 5.3 1.38 20 8|16 | 5 32 |36.5
1201 0201-01| S-20 x 20 12.7 5.40 20 10|20 | 5 40 |40.0
1201 0301-01| S-25 x 25 30.4 12.16 25 10|25 | 5 45 |49.0
o * Do not exceed maximum screw torque
T
'
Liner
Part No. Part No. 2] Heole Size For
i Primary Description Secondary | Description | M N | -0.25 Linar
Liner Liner -0.50
(@] Min. Max
1201010102 | PL 16 x 20 1201010103 | SL16x20 | 25 | 16 | 20 | 25016 25.026
! 1201020102 | PL 20 x 20 1201020103 | sL20x20 | 35 | 20 | 20 |35018]35028
= @N-— 1201030102 | PL 25x 25 1201030103 | SL25x25 | 35 | 25 | 25 |35.018| 35028
— @M -_ Primary Liner 1.D. Is Nominal +0.005/+0.018
Secondary Liner |.D. Is Nominal + 0.025/+0.050
Bolt-in Recessed Bush
W =
o = = P—
g o . BORE MIN.
z 1 T r TE DRILL | DEPTH
= L | ?99“'} % L Part No. | Description| F | 6| ® | 1 | 4 | k| L ;:'_?1 D:’A. to‘;\?zs f#g:';‘:;i 7?"
u X
o L i | + |12010100.4] BB16 37| 16| 11.56|a5]aa|20]76] 37 | 165 | 1191 20 M-4
A AR 5 1210 0201-04 EB 20 as|z2ol1582|60| 54| 35 |as5] as 205 16.21 20 M-4
Machining for Bush 120000104 BB25 [55|25|1004|70]|64|42] 1] s5 | 255 | 2032 25 M-5
Bush
Reverse Mounting Bush
o ez -
BR 0.7845" 8 BORE MIN.
COUNTER DEPTH
i [-—a;a—-l X : i | PartNo. |Description] p | a | R | s | 7 :_—:; fﬁg:lﬁ;?s I.;A%EE + I::nnzs
™ i} z
I.-— L 2,
@ i ] L + * 201 010108 B16 681|286] 22 16 121 22 20 29 724
 — — - eAB—~ havtomios  Ba20 | 681|322 28 | 20 | 171 28 20 33 B74
Bush Machining for Bush 201 0301-05 825 |1027]402] 35| 25 [210] 35 25 a1 10.54

(Specifications subject to change)




DESIGNATION

POWER PACKS

PRODUCT CODE

1101 0101

D00

DESCRIPTION :

Min operating pressure : 1Mpa

Max operating pressure : 20Mpa
Fabricated tank of various capacities
Electrical panel design can be customized
All elements are of std. design & Reputed
brand

Design: Gear Pump/Vane Pump/ Radial
Piston Pump

Mounting: Flange mounting

Nominal voltage: 220/400 V

Power system: 3-phase AC, 50 Hz

Qil level indicator

Pressure relief valve & Return Line Filter

Temperature control (Optional)

APPLICATION :

Tank capacities available in various sizes
from 10-100L

FACTOR OF SAFETY in PUMP-MOTOR ratio

is high preventing overload and burn out.
Can be used in assembly automation.

Manifold design is adapable to suit
1-5 valve banks for sequential
clamping.

Operating range from 5-200 bar
available.

Accumulator present in case of
power failure

Designed for optimal heat exchange to
prevent over heating of oil and elements

——]

(Specifications subject to change)







(T

L
€y G
«w U %

3D modelling and Design analysis before
Prototyping for reduced development cycle.

Specially designed and Made to order cylinders with
Specific strokes and sizes on customer request.

Extremely Compact design and space saving mountings!

- Hydraulic Testing of all clamping cylinders
between 15 to 120 N/m? to assess
- reliability and performance.

Use of high quality seals ensures long
Operating life & Leak Proof, Sustained operation .

Hydraulic units, capable of lifting, rotating,tilting
and moving of work pieces.

Pressing devices for riveting

A selective range of Work Supports with a range of
mountings to enhance the solutions that can be offered
to the customer.

Any type of linear motion or actuation is possible.

Spares & Accessories are standardised and easily
available

§ Highly efficient Applications, Sales & Service teams

hydeyl@clagys.in
Aydeyl.clagys@gmail.com




